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1. 39% EART 49 3MdeA F SEqd FRU AT 3itA-Ars ST qur oA dewar F e,
QETYAT & MR W 3Uah fofla e & v 3mafHa e = &1 3fg 3m9 saR
faemas & ear 3rdfeld ATUdr el WA & A 3Maeht 3eafiar 3rediehd i S|

You have been called for the written test based on the online data furnished by you in the web application and

testimonials in respect of your qualification. If you do not possess the required qualification as per our advertisement,

your candidature will be rejected.
2, qﬂmmﬁﬁﬁmﬁmﬁamﬁmﬁmlmwmmm
q1igy|

You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. U9 50 qEIfASs WAl § FFA IeA-IRAH & & A g

The Question paper is in the form of Question Booklet with 50 objective type questions.

4. 9 % 3eaR o & AT T HTANR SeaR-gi¥as & S|

A separate OMR answer sheet will be provided for answering the Questions.

5. q%aﬁm%mmmwnﬁamaﬂgmmmqﬁﬂmﬁﬁvm
WW%@TWWI

Question booklet series code printed on the right hand top corner should be written in the OMR._answer
sheet in the space provided.

6. IRA-YREABT H IR ATH TUT 3HelshAich HEh §T F o AL
Enter your Name and Roll Number correctly in the question booklet.
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mmmmﬁammmmma?wmﬂaﬁﬁﬁ
ST ATl

All entries in the OMR answer sheet should be with blue/black ball point pen only.

vg g uiRa degar & 3R ), Affa olen ar 3Rl & |y aegfass &9 #
gl (9t @ shaer v @Iy &9 @ @Er glem|

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated,

of which only one will be unambiguously correct.

YT, FecR-GREdHT H BT a0 e1dell & HeTER, Aell/Fel TR & Sfadse O &
HTANR 3ccR-GReasH & HafOd Jiaer H1 3ifFd FT TG 3ca F IIA FT ¢

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball

point pen as per the instructions given in the answer sheet.

Ucd U &I IR 34 &1 &1 ITAd 3cadl & AU TH HUNcHS 37 gidT ¢l

Each question carries four marks. Wrong answer carries one negative mark.

UF 92 & U s 3cal Ield AT AT
Multiple answers for a question will be regarded as wrong answer.
PG EIG G oK R ’ 01 O
Y, ITSY-TEd, AlC G _ Siresft

Computers, calculators, mobile phones and other electronic gadgets, text books, notes efc.,  will not be

allowed inside the written test hall.

afianm qof g W, MTHIR IER-gRaH # IR F Sed Rew & wF Ak Aqw
3iea, -efte Calk; Ik - gfar T '

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the

original OMR answer sheet to the invigilator and retain the duplicate copy with you.
oReA-gRede! e 37U 9 @ Fd B

The question booklet can be retained by the candidate.

qdeT & FUH 0T & R HeARIAT A qdreT gid oIz H wegHfa 7@ 2

Candidates are not permitted to leave the examination hall during the first hour of the examination.

3IRAAT Y WETChR g TG/ EhA-3e1 el & fow g A afer g ard
g 3R TETchR & [Asaed & YR W) EF 994 fRar S|

The written test is conducted only to shortlist/screen-in the candidates for interview and selection will be based on the

performance at interview only.
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1. Physical Constants :

Universal gas constant, R =8.314 J K 'mol" =0.082 L atm K’
mol™
Planck constant, h =6.626x 107475
Avogadro number, Na  =6.023x 102 mol’
. Faraday Constant, F = 96485 C mol™
Electron Charge, ¢ =1.602x 107 C
Speed of light, =2.998 x 10% ms
Boltzmann constant, Kg =1.381x102JK?!
Electron Mass, m =9.109x 10° kg

2. Useful numbers:
Atomic mass : Cu: 63.5, Oxygen:16, Hydrogen : 1, Deuterium : 2
log2 =0.30, log 5=0.7, natural logarithm In =2. 303log;,

&Y Bl & HEAT T F G & T ggwT A gl

The gas used for artificial ripening of green fruit is:

[A] T¥elst/ ethylene
[C] Fre=T ST2-3iTeraTgs/carbon dioxide

T AAF 1680em™ TAT 2225cm™ HMSHR IraeISor S2iar &1 GHET ST

[B] £3=1/ethane
[D] THifeelat/acetylene

A compound shows IR absorptions at 1680 cm™ and 2225 ¢cm™. The probable structure is

=N §H3
HC=0 HC=0
[B]

[

iH?} H2Cl
[C] [

D]

Toad & O U 1 [Fshdor e @ F87 A s a@&ar gl

One of the following cannot be extracted using carbon

[A] TS&/zinc
[C] didl/copper

[B] UAIH/Aluminium
[D]  &&l/Iron



CHO

in presence of Aluminium isopropoxide gives

' H
COOH H20H H20H N CHy— =0 =
CHi—C=0 CH =0
06 0F *o TE
A (B] [C]

(O]

27°C % e MR & T, qrEe F 10% 3Ry R & g X W R oX ag e B
sfafrar & T afpaor Far o £ (R =2 cal/mol/K)

* For certain reaction at 27°C, the rate constant increases at the rate of 10% per degree rise in
temperature. The activation energy for the reaction is (R = 2 cal/mol/K)

[A] 24 kcal/mol [B] 18 kcal/mol [C] 36 kcal/mol [D] 54 kcal/mol

T wraer FATRAT F v, A & 3RF " Fr [T F 9 ¥RDiFar T amar B

For a gas phase reaction, the reaction rate is followed bjf monitoring the partial pressure of the
compounds.
AADB ——ma C+D

31ifAw &1e (P4 and Py RRAT & &7 # eafaf@d akf@e &t fr e v s 8

The following initial rates are monitored as a function of partial pressure (P and Pg))

Py (torr Py (torr) JifAfRaT ST IR &/Initial rate of reaction (torr/s/°C)
200 400 0.23

400 200 0.46

400 400 0.92

39YFd AT & AT e FAEROT ... el

The rate equation for the above process is:

[A] Rate = kPP [B] Rate=kP,’Py

[C] Rate = kP, Pg? [D]  Rate = kPA*Pg’

grsgiieae d (SR WAfeerers) w gfaeams ARk garr daeta #F SRad confees
# uRafda T srar €1 38 sufav g § #aifs......

Cellulose is converted to engineering plastic by substitution reaction on hydroxyl groups (like
acetylation). This is possible because:



[A] et 3] fae=t 3V HR diciTerghaEs # Tfsa g orar 2
Cellulose molecules are broken down to low molecular weight polyglycoside
[B] gregifaae 9 & YRR vo-3meus F @i a &ar § i fF deew & graredar

& FRT &
Acetylation breaks H-bonding of the hydroxyl group which is otherwise responsible for the
intractability of cellulose

[C] Temssrarss Rar @ied & ST § aur Y@e gifeessiadl Yebed I 3cdeed T 2

The glycoside ring is broken and generates linear polyhydroxy alkane.

[D] Temssarss foishat p & o & gRafda & S &, 3aRea 30 F9vi & sar &1

The glycoside linkage changes from J to o, the latter is more tractable.

8. 50 % TaAST FEVT FAaTel AR Telh 3FT F 0.1 AHIF (AGR) T f&erast & pH
.......... gl
The pH of 0.1 molar aqueous solution of oxalic acid assuming 50% dissociation is

[A] 2.6  [B]2.0 [C] 1.3 [D] 1.0

9, TR oo & sgeda @ fAfda g

Terylene is formed by polymerization of
[A] el TSt d SXFdfela 3Fel/ethylene glycol and terephthalic acid

[B] vuelleT SIgUAIA T Siwdfors 3tFcl/ethylene diamine and terephthalic acid
[C] el I TUelle elgara/ethylene and ethylene glycol
[D] Vel TSR T Clelor 315 TSI/ ethylene glycol and toluene di-isocyanate

10.  3cpee 3, S FEalar & W S (clathrates) T AT 7€ FAT..coorenecnne. gl
The noble gas which does not form clathrates with quinol is
[A] 391/ Argon . ' [B] $a¥1/Krypton
[C] Sh=iTeA/Xenon [D] fAata/Neon

]

11. U&d saaeE & v 298K 7 A 399 e A 3feaf@a &

The standard reduction potential at 298K for single electrodes are given below:

soocis/Electrode  ZoagIs 39T« {979 (atec)/Electrode reduction potential (volt)

Mg”" / Mg 234
Zn*?/ Zn -0.76
Fe™ / Fe -0.44



13.

14

STY & IE AT o Fhl & b

From this we can infer that
[A] Zn, Mg**a Fe*™ @t &I er Taar §1/Zn can reduce both Mg?* and Fe?*
[B] Fe, Mg®* @ Zn** @1aif & &er @ahaT §1/Fe can reduce both Mg?* and Zn?"
[C] Mg, Zn** @ Fe** lAT &I eT T&haT §1/Mg can reduce both Zn?* and Fe**
[D] Mg, Zn** &I =eT ®aar §, g Fe’* & J8T1/Mg can reduce Zn>* but not Fe®*

The product in the reaction below is formed by

H
O
H,C Base &
+ ey
HaC _

[A] (Sl HUA & a1 HSohel deheled/Michael addition followed by Aldol condensation
[B] HSHT Hedld & dI¢ Uealel duas1/Aldol condensation followed by Michael addition
[C] #farer if@fRar/Mannich reaction

[D] UosSid HElel & &1¢ sAldeiotel AfAfHar

Knoevenagel reaction followed by Aldol condensation

[A] % @&y & = & g cfad s sfffrar W R &, A &1 ddwor g,

Consider the following second order reaction with respect to [A], the concentration of A,

2A ———> products

R & k & FHGE oo & TN TH e Y@ o FE & R THT G F & F
frafaf@a & gt o afge?

To obtain a straight line with slope equal to the rate constant k, what should one plot as a
function of time?

[A] [AT " [B] = [C] In[AP [D] —

HTARRET FrEgiaaTSs, U oo o deud ey, & U e i 298K W OH'
A T FHGOT 4.0 x 10°M B1 298K A7 F fagar aoreiher Far g

The concentration of OH" ions at 298K in a saturated solution of magnesium hydroxide, a
sparingly soluble electrolyte, is 4.0 x 10*M. What is the solubility product of the salt at
298K?

[A] - BO0x10™ [B] 4.0xi0" [C] 256x10™ [D] 1.25x10™M



15,

16.

17.

18.

fArfafaa & & Fia-ar 78§ a8 &2

Which of the following is not correct?

[A] faRarar &7 & aRHST &, AT A StR-34T 3N &7 oo, forgs d@saa:
AT gl gl

Confidence limits define an interval around the mean value that probably contains the limits

[B] iR Ffear gRomAt i #depar i wsfaa a=er €l
Determinate errors affect the accuracy of the results

[C] sifereiRe 3fear aRomat fr gurtar #r yenfaa s €
Indeterminate errors affect the precision of the results

[D] TEHaT & ARCS & & H AAF gt HT 39T Har snar &1

Standard deviation is used as a measure of accuracy

0.5 g seNfiar 93T, KI | IS HT JFa Hr g, St 20ml 0.1 N Sf3as ariraehe
oo & Ruee sear g1 selifder aEst & aftra 3ifedissT &1 30 fhder &2

0.5 g of bleaching powder liberates iodine from KI that reacts with 20 ml of 0.1 N sodium -
thiosulphate solution. What is the active oxygen content (in weight) in bleaching powder?

[A] 5% B] 6.2% [C]  32% [D]  4.8%
N(SiH3); FT ..ocon.. & SR o} TA3HALT g B
N(SiHj;); has planer geometry due to ‘
[A]  SiH; %ot garT S&qa Bfar amer (R Fsew)
Steric hindrance posed by SiH; groups

[B] Si® d &gl & & Na-dn o7 e gour N o dR-3mays seir |
Nr-dz back bonding between d orbitals of Si and non-bonding orbitals on N

[C]  Si #& T sp gl/Hybridization in Si is sp

-[D]  Si-HaUs N-Si §MUst & 3T #ga#e1/Hyper conjugation of Si-H bond N-Si bonds

Nay[Ni(C,04)2(H,0),] FFAY FT A1 Sq0]
Name the complex: Nap[Ni(C;04)2(H,0);]

[A] RIf3aR sEarfaw (3ifedTeel) Mdee(ll)/Sodium diaquabis (oxalato) nickelate(I)
[B] Sr301fSaH SFarfad (3iferarerel) deie(ll)/Disodium diaquabis (oxalato) nickelate(Il)
[C] |ifsTH sraar (3feraelel) fAdere(ll)/Sodium diaqua (oxalato) nickelate(II)

[D] ®IfaH sFarfsd (3ffFareiel) fAder()/Sodium diaquabis (oxalato) nickel(I)



20.

21.

22

23.

.................. ¥ @RI 3ARF H, U 3FA T JTFAEROT HGEAT FT IT FIAT AT Fhell

The oxidation state of the metal ion in a catalyst can be detected by

[A]  SRHATT ’ERISOT FFfAS/Atomic absorption spectroscopy
[B] ¥ AN Gas chromatography

[C] wadiwerd/HPLC

[D] ATFER TWaefAHMossbauer spectroscopy

Fed F Afaf@a &t & @, somRdTr ak w .. HeF X B

Among the following forms of carbon, the thermodynamically most stable one is:

[A] e &=icga/Carbon nanotube [B]  weriei/Fullerene
[C] &R1/Diamond [D]  FMHST/Graphite

ST & T Fowd A JiEdoT # ABBRAT: 30,(5) —> 204(g), 38 YomeT @R
& IU A g RfAEse afafdat @ d@r e gl

For the reaction of oxygen in equilibrium with ozone: 302(g) —=>20;(g), the number of
variables to be specified to describe the state of the system is:

[A] 1 [B] 2 ] -8 [D] 4
HIATHAT 2NH3(g) —> 3Ha(g) + Na(g) F AT, AH= 93 kJ/mol T&T ASo=196 J/K/mol |
Tl 3IfATFTs T 3cure 9= Ao Uiy § g9 wag 3™FIr feufa o
ad: gafdd grefl

For the reaction: 2NH3(g) —=>3H,(g) + Na(g), AH= 93 kJ/mol and AS0=196 J/K/mol. With
all reactants and products in their standard state, this reaction will be spontaneous at:

[A] 465K & T &7 ar9ARy/ Temperatures below 465 K
[B] 465K FW F d9ATA/Temperatures above 465 K
[C] IS agATT sE1/No temperature
[D] Y d9ATAT A/Al temperatures

fAfaf@a & s Sla-ar g

Which of the following is incorrect

[A] |fsFTT, TFIEEAT & T & T Tehe T &1 3qaiard aar &1

Activity implies the effective concentration of the ions in equilibria

[B] 3ifd T faeraer r wfshaar o wais g

The activity coefficient of very dilute solutions is unity



24.

25,

26.

[C] 3mael @ & gfg gl W, 3HA! Wighaar qonw F §14 T B

As ionic strength increases, its activity coefficient decreases

[D] FHAIVE (AIR) FHEOT TAT ARAIAT IV &7 3c91G, Highaar & Sfaffted g
A

Product of molar concentration and activity coefficient does not represent activity.

fegagsfT TeFeH &, T TE&AT ... T H 7 gedr B

2 2
In the electromagnetic spectrum, the wave number decreases in the order:

[A] TFE-Y>HABHIAT > SAPBRS > HegdIdec
X-ray > microwave > infrared > ultraviolet
[B] UHH-Y{> ABHET > Heg@IAT > FAHNE
X-ray > microwave > ultraviolet > infrared
[C] TFE-Y> HegErgae > TABNS > AGHIad
X-ray > ultraviolet > infrared > microwave
[D] HIEHET > SAWRS > HegarTelc >TFHI

Microwave> infrared > ultraviolet > X-ray

400 MHz NMR TUereHATdT T Fanfgdr 90MHz SaeaaATdr & off 3w § aif....

The sensitivity of a 400 MHz NMR spectrometer is more than that of a 90MHz spectrometer,
because,

[A] 400MHz & fow Taest Tt @3y, 90MHz & 3% &
The spectral scan width is more for 400MHz than for 90MHz

[B] Stegwa= facRor s & @R, ot Ruer sraeer & 3t 3ed), ded & &
gig & @Y sedr g

According to Boltzman’s distribution law, the excess population in the lower spin state
increases with increasing magnetic field

[C] Tou= 3raeyr #r IMEEY, Iged & & @ur eqafas g g

The populatior; of spin states is directly proportional to the applied field
[D] WS T GRIEI0T JeITd ITIR Yoehld 8T H Tk Heaara g1 A1 g

The shielding effect of protons becomes more prominent at higher magnetic field

fcipc AU 3, T3 faeror @ 7 @l FAt & 99.7% forass 3ided 3ma 82

In replicate measurements, 99.7% of all values on the Gaussian distribution curve fall within

. A48 [B] £ 20
[C]+ 1o [D] 39g#d # & HI3 AL1/None of the above
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28.

29,

30.

3l.

32.

EISSIS & & Tarenfas aeEey g § (H @ 12 | 3ifedeT & ansaey § ;00 ud
0" | IR F T Pfaf@a & ¥ Fi9-ar 3P 9R dag it

Hydrogen has two natural isotopes {H' & 1H?. Oxygen has the isotopes 30'¢ & 0. Which
one of the following molecular weights for water would NOT be possible

[A] 24 [B] 20 [C]22 [D] 19

s9eid R seoia & sfeaer Fea PCNMR# ............. & &9 7 fegem
The benzyl carbon in deuterated ethyl benzene, will appear in *C NMR as

[A] fegere/Triplet [B] ®R¢e/Quartet

[C] 9=iee/Pentet [D] THeTere/Singlet

[CoFsl T [CoNER) 6] Fonvnnreremseceerenne GHoT (Frefosmare) §1

The hybridizations in [CoFs]* and [Co(NH3) ¢ are -

[A] sp’d*& sp> [B] dzsp3 & sp°d’ [C] sp3d2&d25;p3 [D] dsp’& dzsp3

ISEHeRIT Hehel (ITeFeesel HiFcedrad) # & yomelr & v freee fres FuriEor
FAT (Ao) coorrerrennn. gl

The crystal field stabilization energy (A,) for d’system in octahedral complexes

[A] 1.6 (B] 2.0 [C]24 [D] 1.8
3TERFas gomel & T tee AT AT o gl

Unit cell dimensions for orthorhombic system is

[Ala=B=y=90°;a#b+#c; " [Blo=p=y =90°;a=b+c
[Cla#B#y #90°;a#b#c; [Dla=p=7 =90°;a=b=c

A=fafaa 3@ & grcg 3 Hr ggaeT 1)

Identify the product from the following reaction,

CHs CaHs
/7 b) e T
C,Hs C,H;s H
CH_ A
d) C2H5 EZHS




33

34

35.

36.

The most acidic species is:
NMe,

O [ ) ® ®

N N N e
W w s } !
[A] [B] [C] [D]
27°C W 0.01 AHUF (AIR) mmﬁwﬂgﬁraﬂé?ﬁﬁmw
(reverse osmosis) $T & HTATH THATH &F ..oooovvvnrenirnns gl

The minimum pressure required to effect the reverse osmosis for sea water containing 0.01
molar sodium chloride at 27°C

[A] 1 SR/bar [B] 0.6 aR/bar [C] 8.3 SR/bar [D] 0.83 a/bar

9e(BP 100°C) F EiefgeT (BP 110°C) & W&Tﬂ;ﬁ 3ifFsoi Ao ) FaR &) 59
a7 & for Rfaf@a & F Fiqa-ar sfa @ ad &

Consider an equimolar immiscible mixture of water (BP 100°C) and Toluene (BP 110°C).
Which of the following statements is NOT true for this system

[A] ©eHl H ¥ UHh FT gd WoT # AT 81 TF woTelr T 8 dAM9H T & Iaefdr
Tl :
The system will boil at a constant temperature till one of the components is exhausted
in the liquid phase )

[B] fRsmr &1 Faudis 9l & HA geEm

Boiling point of the mixture will be less than that of water
[C] UF g & fAdd g dF asg & ve TR IS giar Ram

The vapor will have a constant composition till one component gets exhausted
[D] @F&¥AlR 100°C § 110 °C & & g

Boiling point will be between 100 °C and 110 °C

TfAAEH IrgedieaEs & @Y AT Seeive i HART W gt v thele

Phenyl acetate on treatment with aluminum isopropoxide gives hydroxy acetophenone. This
reaction is known as

[A] FIfASRT TR/ Cannizaro reaction

[B] R#e 31fATFAT/Schmidt Reaction

[C] shre 37T &fshar/Fries reaction

[D] eiest S &sT 31MAfRFAT/Schotten Bauman reaction
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38.

39,

40.

FeSO, AT Fey(SO4); F THATT F AMIcHd: H IqATAd fFFar a1 daver 82

A mixture of FeSO4 and Fey(SO,); can be quantitatively estimated

[A] UV HaefAeT ganrl/by UV spectroscopy

[B] 3nfUas HaiwoT FeeiAHT gaRTI/by atomic absorption spectroscopy.

[C] & =xor sEhd), e A3 gohe § BR& 3 F H99aa MRS 8, &
Zan|

by two-step dichrometry involving reduction of ferric ions by sodium sulphite
[D] FiFcaaaATes AT (erseere) fafer garTi/by complexometric titration methods

greRiaTSr A He T fawa & waw fFed ge

In polarography, the half wave potential relates to

[A] e faRlIse urg 3 1 Als Hoaae fasa)
The standard reduction potential of a specific metal ion
[B] el Rafdrse arg 3T &1 @igoT)
The concentration of a specific metal ion

[C] WW%mﬁemm@NWle

The potential of the half cell involving the specific metal ion of interest

[D] I &7 $uATw, fOad 30 gas Sdagis, Hefta aadr fr fevam, aifde €
The emf of the cell including the other indicator electrode, characteristic of the
element concerned '

Teh oig Heaais og diffE Fr BT I H garr aRafda faar s
T § "

A trans isomeric organic compound can be converted to the cis isomer by

[A] dT9sT/heating

[B] & i & WY 39aRUN/reating with zine dust

IC] TEEEsldellasl & &G FaARlaA«/Chlorination followed by dehydrochlorination

[D] R RARROVUV radiation

Ammonium perchlorate is made by

[A] 3w FaRe T faega srvuee sitaeemor]

Electrolytic oxidation of ammonium chlorate

[B] 3 FeR1gs A faggd eear ieredeor|

Electrolytic oxidation of ammonium chloride

10



41.

42.

43.

[C] 3AATH FNIS8 & HY fA3TaeA & dc Wf3TH FoRe $ faggd e
HferelrentoT|
Electrolytic oxidation of sodium chlorate followed by double decomposition with
ammonium chloride

[D] BI3Ts FaR1ss F Ty ATAREA ReFaRT F gfarqae|

Double decomposition of magnesium perchlorate with ammonium chloride

Ufhfore e &1 HSRUT el 9T 3HHT 3ol HHGUT Teal & TP, e |
On storage, the acid concentration of Acrylic acid reduces because

[A] SgeRaT I ufshar @ IERAT §1/1t undergoes polymerisation

[B] ATl Heheld HIATHAT & IGRAT §1/It undergoes Micheal addition reaction

[C] E3ahte gt & HROT HUF FHT FT IHaATOT FT &
Being hygroscopic absorbs a lot of moisture

[D] tfwfore 315, ﬁf&?ﬂ% g ST §l/Acrylic acid gets oxidized

T HHAUT 19 I GAAIRITE HFACT AT ST § FAIMH....oeoe |
Glass transition temperature is referred to as second order transition because

[A] T FHAT, Tl a9 & 9 WG 8l ol
glass transition occurs before melting temperature
[B] & THAT & R Tegidl H HheAEF IRIa g ol
there is an abrupt change in entropy‘ddring glass transition
[C] et #gaa Fo # aRads, o & & @WoT 310 g

the change in Gibb’s free energy is two order more than in melting

[D] Fres FqFd el & A ogcdew, ERAs aRads § o ¢l

the second derivative of Gibb’s free energy undergoes an abrupt change at that
temperature

HIHCTTRN H, G Toie (AaRfewer tole) A FHgeT Far (TISE) ..o

g gl
In chromatography, Height Equivalent to a Theoretical Plate (HETP) is related to:

[A] ®TeH g&Tdl/Column efficiency [B] 3=er 9rg¥yT/Stationary phase
[C] arfaefrer Jraxar/Mobile phase [D] Mol wt f&aRo1/Mol wt distribution

11
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45.

46.

47.

OH #r 3ufeafa & SN, sffrar fFa ufY & 3= &

SN reaction in presence of OH' is the easiest in which case?

[A] CH,CI [B] ‘
- CH,CI

[C] H,C=CHCI [D] HyC—CH,Cl

forel ot =RoT aREdsr & 3 A, 9 TE gomel @ R g 7 Ty(K) & Ty(K) & arfia
T Srar &, a9 vegidy #F 3T @S T oo & # fear Jar g

In the absence of any phase change, the change in entropy when a system is heated from
T1(K) to To(K) at constant pressure is given as

[A] A — ‘ [B] Cp In I
€] =y D] H _ H
1{T1T2 T1 Tz
frafefea & @ S o adf &1
Which of the following is NOT correct
[A] SvifAengs, deotersiadid & dhAR JAfdeare & ST AT e g

Benzanilide can be made by the Beckman rearrangement of benzaldoxime
[B] U FoRIss #T sEret A9 & O 3R R W 0Afes ofas &y
Wi s & aRafda frar s asar g

Acetic acid can be converted to propionic acid by treatment of the acid chloride with
diazo methane

[C] 30T T AT, wﬁ%mmmm?l
Nitration of benzene is an example of aromatic nucleophilic substitution

[D] wr#gmﬁmwmm,;ﬁ‘aﬁmmm%gaﬁm
(dimerization) ¥ I[eRaT gl

Cinnamic acid on exposure to light undergoes dimerization to form truxilic acid

T P aer § B g F Rl S A S 6 A & S 8

The law which states that the amount of gas dissolved in a liquid is proportional to its partial
pressure is ;

[A] 3Teest @@ /Dalton's law [B] 3-gdler fa#7/Gay Lussac's law
[C] &Y f@ga/Henry's law [D] 3ee fFa/Raoult's law
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48.

49.

50.

S 96.5 . & AT CuSO, fderae # 10 amp F faega arr varfega #r Sl ¢, o« a8

The amount of copper deposited on cathode when an electric current of 10 amp is passed
through CuSO; solution for 96.5 sec equals

[A]  Cu/200 & 31f0ae HR/atomic weight of Cu/200

[B] Cu/100 & 3f0as $/atomic weight of Cu/100

[C] Cu/6.02 x 10*°&r 30as #Matomic weight of Cu/6.02 x 10°°
[D] Cu/10 & 31f0a% #R/atomic weight of Cu /10

T& Soeeld 3.3 x 10°ms™ i 1fy W gadr ¥ 3THr a0 T 2|

An electron moves at a speed of 3.3 x 10°ms™. Its wavelength is approximately?

[A] 8.8 A [B] 44 A [C]2.2 A [D] 6.6A

farfaf@a & @ forest urg-urg sivs oA &2

Which one of the following contain metal-metal bond?

[A] &% FRISS/Cupric chloride [B] ®¥ FaRgs/Stannous chloride
[C] HHRZH FaRSS/Mercurous chloride [D] FRIR® Felrgs/Mercuric chloride

sk sfe she e ok s sfe e ok
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